| Efficiency vs Dxy |

0.02F
<
o
®»018
>

@16}

Ko
@014__ """"

= C
(5]

0.012

0.008
0.006

0.004 [ +++-weeeviveeeeniv

0.002

..............................

0.0 +vevvviveno

.................................

N
SSRRNL RN

—2520151050 510152025

| Efficiency vs Dz |

TP dxy (cm)

—=— DQM_V00UI_RO0000000T_Global
—e— DQM_V0001_R000000001__Global
—+— DQM_V0001_R000000001__Global

cmssw__RECO
mkFitOriginal__RECO
mkFitNew__RECO
mkFitNew05__RECO

.05
©

$045
co 04
ans

0.025
0.02
0.015

0.005
%)

0.08f oo s Et &

O

— DQM_VOOOl R000000001__Global

Ratio

3

N

2030
TP dz (cm)




	Contents
	Page 1


